3.5 D-SUB Cover set
3.5.1 Plug cover set TRACST

Set code configuration

Pos. Description Item number Qty. Size 1 Size 2 Size 3 Size 1/60°
D-SUB plug cover set TRACST TRACST TRACST TRACST TRAC60ST
1 Cover size 1 TRAC1 1 1 1-60
Cover size 2 TRAC?2 1 2
Cover size 3 TRAC3 1 3
2**  Screw M2.5x5 mm SUCHM2.5x5 3/4
3 Must be inserted in Order -
4 Screw M3x32.4 mm SUIBKTM3x32.4 2
Screw 4-40UNC-2Ax32.4 mm SUIBKT4-40UNCx32.4 2
Screw M3x12 mm FIBKTM3x12 2 5
5**  Spring washer M3 SUSN212748M3 2

**Included in the set

Ordering example:

D-SUB plug (TRACST), size 1 (1), screw M3x32.4 mm (2) = Item number: TRACST1-2
Other components have to be ordered separately according individual requirements.

A;IMOTA

Dataconnector Catalogue Gimota AG 04/16 I I

29




